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1 |[Bengaluru 630|3189(5674| 1424|2784 2135

2 [Bhopal 1577|6089 4225 2174|6563 5063

3 [Chennai 859| 5066( 6431| 2138|6918 6171 6413

4 |Gandhinagar 646|3431(5842| 1775|6990 5056

5 |Hyderabad 665|4631( 6734|2533 5212

6 |[Kannur

7 |Kolkata 1223 5373|6512 3459

8 |Mumbai 376|2241(5030| 1501 2577

9 |New Delhi 268|2043( 4740| 870 1557

10 |Patna 2022|6071 6988|3730 2621 6038| 6928| 3980

11 [Raebareli 1960|6111 4454|6881

12 |[Shillong 2173(6207| 5990| 4498 6784

13 |Kangra 1592| 6198( 6905( 4438 6324

14 |Jodhpur 1780| 5893| 6536( 4163 2185|6179 4737

15 |Bhubaneswar |1729(5577|6991|4113 2258|5753

16 |[Srinagar




